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Evaluate

2
/ Y’ +y dy
_1

Find the integral with
respect to x

/ cos z sin zdx

Evalute \Nint x{2}(3-
10xM{3})dx\]

Evaluate \[\int
3eMx}+5\cos (x) -10
\secM2}(x) dx\]

Evaluate \[\int \cos
(6x+4)dx\]

Evaluate \[\int(3x-
2)M6} dx\]

Integrate \[\int
(XM3}+3xM2}+2x+4)\]

Differentiate \
[y=3\sqrt(x"2)(2x-
xM2})\] with respect to
X

Differentiate with
respect to x: \[f(x) =
(ax{"3} + bx)\]

Given \[y(x)=x"{4} -
4xM3} + 3xM2} -5x \],
evaluate \[\frac{d"{4}
YHd xM41H]

Given \
[\frac{2x"{5}+x"{2}-5}
{t"2}\], find \[\frac{d
yKd x}\] by using the
first principle

Find the derivative \
[f(x)=2x"{2}-16x+35\]
by using first principle

Evaluate the limit \
[\lim {x\rightarrow
\infty} \frac{6e{4x}-
eM-2x}}{8eM4x}-
eM2x}+3eM-x11]

Evaluate the limit \
[Mim {x\rightarrow -
\infty} \frac{x"{2}-5t-9}
{2xMaH+3xN3IH]

Evaluate the limit \
[\Mim {x\rightarrow
\infty} \frac{2x"{4}-
XM2}+8XH-5xM4}+TH]

Evaluate the limit \
[\im {t\rightarrow 4}
\frac{t-\sqrt(3+4)}{4-t}\]
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sin 2z
+c

\[rac{1}{150}(3-10xA{3})"5)+c\]

\[3eM{2}+5\sin x-10\tan x+c\]

\[\frac{\sin (6x+4)}{6}+c\]

\[rac{(3x+2)M7IH{2}+c\]

\Nrac{xM4}}{4}+x3}+xM2}+4x+c\]

\[y=\frac{10 x*{\frac{2}{3}}}{3}-\frac{8

xM\frac{SH3}H3N

$$3a - b$$

30

Q-tN-21+8tA{-3}]

\[x+16\]

\[rac{3{4}]

\[rac{1}{3N]

\Irac{-3}{8]

sin 2z + ¢

\[rac{1}{10}(1-10xA{2})"5)+c\]

\[3eM{x}+\cos x-10\tan x+c\]

\[\frac{\cos(6x+4)K6}+c\]

\[Mrac{(3x+2)\{7}}{21}+c\]

\[\frac{x {4}}{2}-xN{3}+x 2} +4x+c\]

\[y=\frac{10 x*{\frac{2}{3}}}{3}+\frac{8

xM\frac{SH3NH3N

$%ax2} + b$$

42

\[BHTE-3)\]

\[4x-16\]

\[rac{1}4}\

\[rac{2}{30]

\[rac{-5}{8\]
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17
16

COS2 x

\[rac{1}{15}(3-20x"{3})"5)+c\]

\[3eM{x}+5\sin x-10\sec x+c\]

\[\frac{\tan(6x+4)K6}+c\]

\[frac{(3x-2)M7}}{21}+c\]

\[3\frac{x{4}}{4}+2x 3}+x+c\]

\[y=\frac{5 x{\frac{2}{3}}}{3}-\frac{4

xM\frac{5}3NH3N

$83xM2} + 18$

24

\[tN2)+5tM-3)]

\[3x-5\]

\[rac{1{2}]

\Mrac{1}{2}\]

\[rac{-148)\]
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McQ Evaluate the limit \ 12 8 14
[\Mim_{h\rightarrow
ON\frac{2(-3+h)*{2}-18}

{hi
McQ Differentiate \ \[y=\frac{10 x*{\frac{2}{3}}}{3}-\frac{8 \[y=\frac{10 x*{\frac{2}{3}}}{3}+\frac{8 \[y=\frac{5 x{\frac{2}{3}}}{3}-\frac{4
[y=3\sqrt(x"2)(2x- xM\frac{SH3}H3N xM\frac{SH3}H3N xM\frac{5}3}}}{3N
xM2})\] with respect to
X
MCQ Differentiate with $$3a - b$$ $$axM2} + b$$ $$3xM2} + 1$$

respect to x: \[f(x) =
(ax{"3} + bx)\]

MCQ Given \[y(x)=x"{4} - 30 42 24
4xM3} + 3xM2} -5x \],
evaluate \[\frac{d{4}
yHd x4}
McQ Given \ C\[-tM{-2}+8tN-3}\] \[6t+7tY-3}] (2} 513N

[\frac{2x"{5}+x"{2}-5}
{t"2}], find \[\frac{d
yKd x}\] by using the
first principle

McQ Find the derivative \ \[x+16\] \[4x-16\] \[3x-5\]
[f(x)=2x"{2}-16x+35\]
by using first principle

McQ Evaluate the limit \ \[Mrac{3}{4}\] \[Mrac{1}{4}\] \Mfrac{1}{2}\]
[\im {x\rightarrow
\infty} \frac{6e{4x}-
eMN-2x}}{8eM4x}-
eM2x}+3eM-x}]

McQ Evaluate the limit \ 4 2 0
[Mim {x\rightarrow -
\infty} \frac{x"{2}-5t-9}
{2xMaH+3x N3]

McQ Evaluate the limit \ \[Mrac{1}{3}\] \[\frac{2}{3}\] \Mfrac{1}{2}\]
[Mlim {x\rightarrow
\infty} \frac{2x"{4}-
XM2H8xH-5xM4}+TH]

McQ Evaluate the limit \ \[Mrac{-3}{8}\] \[frac{-5}{8}\] \[\frac{-1}{8}\]
[\Mim {t\rightarrow 4}
\frac{t-\sqrt(3+4)}{4-t}\]

McQ Evaluate the limit \ 12 8 14
[\Mim_{h\rightarrow
ON\frac{2(-3+h)*{2}-18}
{hA]
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